


30
30

1 2 3 4
30 11 — 13
20 10 — 12

3 26 11 25 6
14 3 11 8 27
30 27 10 31 5
29 31 11 27 26
28 16 — 4
22 31 — 26
20 8 10 21 17
29 3 — 14
23 25 — 27
22 10 — 5
31 31 — 4
31 10 12 11 27
24 30 — 28
29 29 — 4
30 24 — 28

6 29 1 7 6
28 29 — 27
30 25 — 6
24 26 — 28

31 29 — 4
29 31 — 26

31 24 — 12










=




§Y%

2025




OK




ADL

39

SNS




10

SNS

MSW




O O O O O

Nol







8050

8050




CM




8050

50

8050




8050

Ccw

50




8050

ADL

60 70

80 90




8050

8050




8050

2040




